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FE H30 R1 R2 R3 R4
20-29%% 382,920 373,902 399,976 396,175 378,679
30-39%% 782,220 744,410 703,536 705,511 679,000
& 40-497%% 943,171 923,567 834,596 895,110 853,551
= 50-595% 723,312 736,486 658,125 760,166 765,975
60-6975% 801,229 769,011 619,712 696,318 682,271
70 LA E 633,018 677,507 563,563 666,216 670,692
RLEH oy 4,265,870 4,224 543 3,779,508 4,119,496 4,030,168
(N) 20-297% 4,075 4,298 4,421 4,352 4,093
30-39%% 10,843 10,863 10,064 9,881 9,487
40-4955 16,820 16,741 15,661 15,636 15,375
7 50-5975% 13,762 13,917 13,307 14,234 14,540
60-697%% 14,322 13,780 11,998 12,538 12,761
70 LA L 10,101 10,617 9,798 10,473 10,846
443 4y X2 69,923 70,216 65,249 67,114 67,102
20-29%% 16,311 17,750 18,587 18,547 17,663
30-39%% 24,604 24,931 23,188 22,954 21,390
& 40-4975% 23,872 24,390 21,815 22,500 20,737
= 50-595% 11,513 12,128 10,862 12,151 11,795
60-6975% 6,006 6,010 4,906 5,316 5,101
70iE LA E 4,378 4,955 3,969 4,557 4419
EEREN g3 o K2 86,684 90,161 83,327 86,025 81,105
(AN) 20-29%% 150 155 199 176 176
30-39% 310 329 320 293 267
5 40-49%5 358 392 411 325 354
g 50-597% 195 223 227 205 224
= 60-697% 77 126 123 81 85
70i% LA LE 67 93 95 64 75
g3 e K2 1,157 1,318 1,375 1,144 1,181
20-29%% 11,446 12,108 13,225 13,627 12,988
30-39%% 18,487 18,436 17,664 17,738 16,555
& 40-495% 18,488 18,843 17,261 17,904 16,623
= 50-595% 8,905 9,478 8,707 9,651 9,474
60-6975% 4747 4,719 3,914 4295 4114
70i% LA E 3,309 3,840 3,326 3,533 3,479
BRI EN g 4 K2 65,382 67,423 63,820 66,748 68,305
(N) 20-29%% 124 130 138 146 144
30-39% 273 274 195 250 230
40-49%% 306 338 275 252 293
g5 50-597% 175 185 154 169 197
= 60-697% 70 102 90 75 70
70 L 62 80 69 55 65
f X2 1,010 1,109 921 947 1,093
20-29%% 31 33 41 87 24
30-39%% 221 198 178 196 152
& 40-495% 347 261 281 286 253
= 50-595% 234 200 208 232 241
60-697%% 198 166 128 141 165
<) 708k LA E 157 207 146 179 194
b‘“fg"ﬁ* 403 e K2 1,188 1,064 982 1,121 1,029
30-39%% 6 2 1 1 3
5 40-495% 4 1 2 5 2
2 50-595% 7 2 1 4
= 60-697% 2 1 0 2 2
70 LA E 1 2 3 2 1
oy 20 9 6 12 12
20-29%% 26 25 23 13 13
30-39%% 119 78 70 71 57
& 40-495% 89 77 74 80 55
= 50-597% 29 40 28 35 31
60-697% 21 22 21 19 21
AISTH-HT-F& f oy X2 284 242 216 218 177
(N) 20-29%% 0 1 0 1 0
30-39% 1 0 0 1 0
< 40-49%% 1 0 0 0 0
50-597%% 0 0 0 2 0
60-695% 0 0 0 0 1
g 2 1 0 4 1




20-297% 457 494 468 396 354
30-397% 1738 1705 1,626 1,650 1,483
& 40-497% 1501 1545 1,349 1,497 1,335
= 50-597% 440 453 426 505 510
60-697% 244 246 222 282 263
CIN3T#Ho1= 43 4y X2 4,380 4,443 4,091 4,330 3,945
#(N) 20-297% 5 7 7 3 3
30-397% 20 25 13 16 16
i% 40-497% 25 21 13 13 17
B 50-597% 14 8 6 10 3
60-697% 2 1 6 9 5
foa K2 66 62 45 51 44
20-297% 830 780 772 496 391
30-397% 2,091 1,983 1,904 1,917 1,692
& 40-497% 1,788 1,788 1,551 1,863 1,643
E 50-597% 626 700 600 772 782
< . 60-697% 1,453 1,332 1,225 442 449
ﬁ‘f‘%%’i‘ﬁ% TR 6.788 6,583 6,052 5.490 4,957
) 20-297% 11 10 8 5 3
30-397% 25 26 15 18 19
i% 40-497% 33 23 13 18 19
B 50-597% 16 9 6 13 7
60-697% 3 3 9 11 8
o 4 K2 88 71 51 65 56
TOERIBIEIZDONT  * W RERIL20~695%

2 X £ 16.0 15.7 15.2 15.4 15.8
(%) EFE 15.6 15.7 15.5 15.4 15.6
BEfRmE ESES) 2.3 2.4 2.5 2.4 2.3
(%) EFE 1.8 2.1 2.3 1.9 2.0
ERZRE ESEd| 75.4 74.6 76.6 77.6 77.9
(%) RHE 87.0 84.0 66.6 82.6 84.4
NAFKRE 2E 0.19 0.19 0.19 0.16 0.15
(%) EHE 0.15 0.12 0.09 0.11 0.10
(51 = it 3 o 2E 8.2 7.7 7.6 6.7 6.5
(%) EFE 8.1 5.8 40 6.0 5.1
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